RD SHARMA
Solutions
Class 8 Maths
Chapter 7

Ex 7.5



Q.1) 16x2-25y?
Soln.:

16x2 —25y?

= (4= (5y)

= (4x — Sy)(4x + 5y)

Q.2) 27x2 - 12y?

Soln.:
27x% — 12y
=3(9x2 - 4y?)

=3[(3%)° - (2y)’]
=3(3x—-2y)(3x +2y)

Q.3) 144a%—289p?
Soln.:

144a% -289b%

=(12a)%> - (17b)?
=(12a—17b)(12a+ 17b)

Q.4) 12m*-27
Soln.:

12m?-27
=3(4m?-9)
=3[(2m)*- 37
=3(2m-3)2m +3)

Q.5) 125x> - 45y>
Soln.:

125x% — 45y
=5(25x% - 9y?)
=5[(5%* - (3y)’]
=5(5x = 3y)(5x + 3y)

Q.6) 144a%—169b*
Soln.:

144a% — 169b?

=(12a)* - (13b%)
=(12a—13b)(12a + 13b)

Q.7) (2a—b)>—16¢*

Soln.:



(2a—b)? — 16¢?

=(2a—b)?>— (4c)?
=[(2a—b)— 4c][(2a—b) +4c]
=(2a—b—4c)2a—b +4c)

Q.8) (x+2y)2—4(2x —y)?

Soln.:

(x+2y)?—40Q2x—y)* = (x + 2y - [2Q2x —-y)]?
=[(x+2y) = 2@2x = y)][(x +2y) + 2(2x —y)]

= (X +2y —4x +2y)(x + 2y +4x —2y)

=5x(4y — 3x)

Q.9) 3a%—48a°
Soln.:

3a° - 48a°
=3a%(a’- 16)
=3a’(a’>—4?%)
=3a%(a-4)a+4)

Q.10) a*-16b*

Soln.:

a*— 16b*

=a*-2%*

— (a2)2 _ (22b2)2

— (az _ 22b2)(32 + 22b2)
= [a% = (2b)*](a® + 4b%)
(a—2b)(a + 2b)(a® + 4b%)

Q.11) x%-1

Soln.:

xB—1=(x"?-17

== D+ 1)

=163 = 12+ 1)
==+ D+ 1)
== 1)+ D+ 1)

=(x— D(x +D)(x2+ D4+ 1)

Q.12) 64— (a+1)2
Soln.:

64—(a+1)7

=87 —(a+1)
=[8—(a+ D][8+(a+1)]
=@8-a-1B+a+1)



=(7-a)9+a)

Q.13) 36L%— (m + n)?
Soln.:

36L2 — (m + n)?

=(6L)*~ (m +n)?

=[6L — (m +n)][6L + (m +n)]
= (6L —m—n)(6L + m +n)

Q.14) 25x%y* -1
Soln.:

25x4y*— 1

=52 -1

= (5x%y2 = 1)(5x%y2 +1)

Q.15) a*—1/b*
Soln.:

at—1/b*

= (@) - 1/(b*?
=a%— 1/b%a> + 1/b?

=a—1/ba+ 1/ba%+ 1/b?

Q.16) x> — 144x
Soln.:

x> — 144x

=x(x? - 144)

= x(x2 - 122)
=x(x—12)(x + 12)

Q.17) (x—4y)?—625

Soln.:

(x —4y)?> - 625
=(x—4y)>-25%

= [(x—4y) - 25][(x - 4y) +25]
= (x— 4y —25)(x — 4y +25)

Q.18) 9(a—b)2—100(x — y)?

Soln.:

9(a—b)? - 100(x —y)?

=[B@a-b)P-[10x -y
=[3(a=b)~10(x —y)l[3(a=b) + 10(x ~y)]



=(3a—3b—10x + 10y)(3a— 3b + 10x — 10y)

Q.19) (3 +2a)*—25a%

Soln.:

(3 +2a)* - 25a2

= (3 +2a)* —(5a)?

=[(3 +2a) - 5a][(3 +2a) + 5a]
=(3+2a—5a)3 +2a+5a)
=(3-3a)(3+7a)

=3(1 -a)3 +7a)

Q.20) (x +y)*—(a—b)?

Soln.:

(x+y)—(a=b)
=[x+y)—@=-bl(x+y)+(a-b)]
=(x+y-a+b)x+y+a-b)

Q.21) 1_16 xy?— % y*2?
Soln.:

% X2y = :_9 y222
:y2(11_6 2o % 2)
=YX’ - (52)]

S (lx—27)(lx+ 2
¥ (dx - 22)(Lx+ 22)

V(X _ 2 X4 2
Y (7 -50(7+37)

Q.22) 75a%b* - 108ab*
Soln.:

75a3b% — 108ab*

= 3ab?(25a — 36b?)

= 3ab? [(5a) - (6b)?]

= 3ab*(5a— 6b)(5a + 6b)

Q.23) x°-16x3
Soln.:

x° - 16x°
=x}(x%—-16)
=32 42)

=xX3(x—4)x +4)



50 2%
Q24) -3

Soln.:

50 2x2

wp s

25

— X2
Ay

=227 ()

SAT-IATER)

Q.25) 256x5 —81x

Soln.:

256x° — 81x

=x(256x*—81)

=x[(16x%)2 - 97]

=x(16x%+ 9)(16x% - 9)
=x(16x%+ 9)[(4x)* — 32|
=x(16x>+ 9)(4x + 3)(4x - 3)

Q.26) a* —(2b +¢)*

Soln.:

at —(@2b+c)

=@ - [2b+c)’)?

=[a%+(2b +c)][a® - (2b + c)’]
=[a2+(2b+c)}{[a+(2b+c)][a—(2b+c)]}
=[a®+(2b+c)](a+2b +c)a—2b—c)

Q.27) (3x +4y)*—x*

Soln.:

(Bx +4y)t—x*

=[Gx+4yPP - ()

=[x +4y)? + x2|[(3x + 4y)* — x?]

= [(3x +4y)? + X2][(3x + 4y) + x] [(3x + 4y) —x]
= {(3x + 4y +x%} Bx +4y +x)(3x + 4y —x)

= {(3x +4y)* +x7} (4x +4y)(2x + 4y)
={Bx+4yy +x2} 4(x +y)2 (x +2y)

=8{(3x +4y)? +x%} (x +y)x +2y)

Q.28) p’q*- piq*
Soln.:

p’q*-p'q*
=p*q’(1 -p’a)
=p’q* [1 - (pa)’]

=p?q® (1-pq)(1 +pq)



Q.29) 3x%y —243xy°
Soln.:

3x3y — 243xy?

= 3xy(x* - 81y?)
=3xy[x* - (9y)’]
=3xy(x = 9y)(x + 9y)

Q.30) a*b*—16¢*

Soln.:

a*b* - 16¢*

= [(a%b%)* - (4c?)]

= (a’b” + 4c?)(ab* - 4c?)

= (a%b” + 4c?)[(ab)*— (2¢)’]

= (a%b? + 4¢?)(ab + 2¢)(ab — 2¢)

Q.31) x*-625
Soln.:

x*— 625
=(x})?-257

= (x> +25)(x*-25)
=(x*+25)(x* - 5%)
=(x2+25)(x + 5)(x—5)

Q.32) x*-1

Soln.:

xt—1

=(3)?-1

=+ DI=1)
=03+ Dx+ D(x—1)

Q.33) 49(a—b)?—25(a + b)?

Soln.:

49(a—b)?—25(a+ b)?

=[7(a=b)’1 - [5(a+ b))
=[7(a—b)—5(a+b)] [7(a—b)+5(a+b)]
=(7a—7b—5a— 5b)(7a—7b + 5a + 5b)
=(2a— 12b)(12a —2b)
=2(a—6b)2(6a—b)

= 4(a—6b)(6a—b)

Q.34) x—y—-x2+y?



Soln.:

x—y-x2+y?

=(x=-y)+*-x?)

=(x-y)+y+x)y-x)

=(x-y)=(y+x)x—y)  [since, (y —=x) =-(x—y) |
=(x=yll - +x)]

==y -x-y)

Q.35) 16(2x — 1)> - 25y

Soln.:

16(2x — 1)* = 25y>

=[4Q2x - D= (5y)?

=[4(2x - 1) = 5y][4(2x — 1) + 5y]
= (8x —4— 5y)(8x -4 + 5y)

= (8x — 5y —4)(8x + 5y —4)

Q.36) 4(xy + 1)>—-9(x — 1)?

Soln.:

d(xy + 12— 9(x—1)?

=[2Gy + DP - [Bx- D

=[2(xy + 1) =3(x = D] [2(xy + 1) +3(x = 1)]
=(2xy +2-3x +3)(2xy +2 +3x - 3)

= (2xy - 3x + 5)(2xy +3x - 1)

Q.37) (2x +1)2-9x*

Soln.:

(2x +1)? - 9x*

=(2x+ 12 =(3x%)?

=[x+ 1)=3x3[2x +1) + 3x7]
=(-3x2+2x + DG3x2+2x+ 1)

= (-3 +3x—x+ )32 +2x+ 1)

= 3x(x+ 1)+ I(x+ 1)}(3x* +2x + 1)
=(x+1D3x+ 1)Bx2+2x+ 1)
=-(x=DBx+ B2 +2x+ 1)

Q.38) x*— (2y —3z)?

Soln.:

x* = 2y — 3z)

= () -2y -32)°

= [x* =2y = 32)][x* + 2y - 32)]
=(x2=2y +32)(x2 + 2y — 32)

Q.39) a2—b%+a-b



Soln.:
a’—b*+a-b=(a=b)+(a—b)
=(at+b)a—b)+(a—b)
=(a—b)a+b+1)

Q.40) 16a*—b*

Soln.:

16a*—b*

_ (4a2)2 _ (bz)z

= (4a” + b?)(4a” — b?)

= (42 + bH)[(2a)* — b7

= (42> + b?)(2a + b)(2a—b)

Q.41) a*-16(b -c)*

Soln.:

at—16(b—c)*

=@ - [4b—c/P

=[a? +4(b—c)*][a’ - 4(b—c)’]

= [ +4(b—c)’] [~ [2(b - )]

= [a®+4(b—c)*]la+2(b—c)]la—2(b—c)]
= [a®+4(b—¢)*|(a +2b—2c)(a—2b + 2c)

Q.42) 2a%-32a

Soln.:

2a%-32a

=2a(a*-16)

=2a[(a®)’ - 4]

=2a(a’ +4)(a>—4)

= 2a(a®+ 4)(a2-2?)
=2a(a’ +4)a+2)a—-2)
=2a(a—2)(a+2)a>+4)

Q.43) a'b*-81c*

Soln.:

a*b* - 81c*

= (a%b2)% — (9c2)?

= (a%b?+ 9¢?)(a%b? — 9¢?)

= (a?b?+ 9¢?)[(ab)? — (3¢)?]

= (a?b?+ 9¢?)(ab + 3c¢)(ab — 3¢)

Q.44) xy9 - yx9
Soln.:

Xy9 - ng



=xy(y*-x%)

=xy[(y"? = (x*]

=xy(y* + xH(y?)? - (x?]
=xy(y* +xH)(y? + xA(y2 - x3)

= xy(y* +xH)(y? + XAy +x)(y —x)

Q.45) x3—x
Soln.:
X —x=x(x2-1)

=x(x=D(x+1)

Q.46) 18a%x2 —32
Soln.:

18a%x% — 32
=2(92%x* - 16)
=2[(3ax)* — 47
=2(3ax — 4)(3ax + 4)



